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General instructions

Working time — 3 hours.
(plus 5 minutes reading time)

Write using blue or black pen. Where
diagrams are to be sketched, these may be
done in pencil.

Board approved calculators may be used.
Attempt all questions.

At the conclusion of the examination, bundle
the booklets + answer sheet used in the
correct order within this paper and hand to
examination supervisors.

SECTION I

e Mark your answers on the answer sheet

provided (numbered as page 10)

SECTION II

e Commence each new question on a new page.

Write on both sides of the paper.

e All necessary working should be shown in

every question. Marks may be deducted for
illegible or incomplete working.

STUDENT NUMBER:

Class (please )

O 12M4A — Mr Weiss

(O 12M4B — Mr Ireland

O 12M4C — Mr Fletcher
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2 2012 MATHEMATICS (EXTENSION 2) HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

Section I: Objective response

Mark your answers on the multiple choice sheet provided. Marks

1. The region in the first quadrant between the x axis and y = 6z — 2 is rotated 1
about the y axis. The volume of this solid of revolution is

6 6
(A) /0 T (62 — :C2) dx (C) /0 mx (6x — :c2)2 dx

(B) /0627m (6z — 2?) dx (D) /067T<3+\/m>2 dx

2.  What are all the values of k for which the graph of y = 23 — 322 + k will have three 1
distinct = intercepts?
(A) all k>0 (C) k=0,4
(B) all k < 4 (D) 0<k<4
3. Which of the following is the triple root of the equation 1

8rt +122% — 3022 + 172 -3 =0

(4) § B) - (© -3 D) 0
1 1
4. If nis a non-negative integer, then for what values of n is / x"dx = / (1—z)"dx 1
0 0
true?
(A) no solution (C) non zero n, only
(B) n even, only (D) all values of n
5. What are the coordinates of the foci of xy = 187 1
(B) (0,3v2), (0,-3v2) (D) (6,6), (—6,6)
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2012 MATHEMATICS (EXTENSION 2) HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

6.

10.

Which of the following inequalities is represented by the Argand diagram?

Im

AN ..
A

(A) =1 <2 (©) s +1] <2
(B) |z —i] <2 D) |z+i| <2
dz
What does / ——— evaluate to?
(x—=1)(z+2)
(4) dlog, [+ (C) 3log.|(x — (@ +2)|+C
(B) }log, | 22| + C (D) (log, |z — 1]) (log, |z + 2]

1
What is the value of / ze T dx?
0
(A) 1—2e (C) 1—2e7!
(B) —1 (D) 2e — 1

2 2
What is the value of the eccentricity of the hyperbola o yz =17

9
3 11
(A) Ve (€) NG
B) Y12 D) V3

End of Section I
Examination continues overleaf. ..
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Section II: Short answer

Question 11 (15 Marks) Commence a NEW page.

(a)

Evaluate:
. / dx
i -
V7T —9x — 2
. / dz
ii.
xlog, x
dx

2
Evaluat —_—.
valuate /1x(1—|—x2)

Evaluate / \/i_x dz.

Find / e 2% cos x du.

Question 12 (15 Marks) Commence a NEW page.

(a)

(b)

Show that 3i is a root of P(x) = z* — 323 + 522 — 272 — 36, and hence solve
P(z) = 0 completely.
If o, B and ~ are roots of 323 + 422 + 5z + 1 = 0, find the value of

1 1 1
a2 32 + 322 + a2+2

Given Q(x) = 2* — 523 + 422 4 3249 has a root of multiplicity 2, solve Q(z) = 0
over C.

The roots of the polynomial equation 23 — 222 + 3z 4+ 1 = 0 are o, 3 and 7.
Find the value of o2 + 32 + ~3.
The polynomial z° — az? + b = 0 has a multiple root.

Show that  108a® = 3 125b°.

Marks

Marks

3
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2012 MATHEMATICS (EXTENSION 2) HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION 5

Question 13 (15 Marks) Commence a NEW page. Marks
(a) Sketch the region in the Argand diagram which simultaneously satisfies the 2
following inequalities:
|z —2i| <2
Im(z) > 2
(b) What is the locus in the Argand diagram of the point z such that 3

2Z2—2(z24+2)=5

(c) Find the value of 2! in Cartesian form, given that 3
2 =2 -V2i
(d) In the following Argand diagram, P represents the point 6 + ai, and O is the 3
origin.
tm P:6+4+at
0 Re
B

Find the complex number represented by the point B, given ZPOB = 90° and
2|0B| =3|0P|
(e) Two perpendicular chords PQ and XY of a circle intersect at Z. 4

Copy the diagram into your writing booklet.
X

Y

If M is the midpoint of the chord X, prove that M Z produced is perpendicular
to the chord PY.

NORTH SYDNEY BOYS’ HIGH SCHOOL JUNE 21, 2012



6 2012 MATHEMATICS (EXTENSION 2) HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

Question 14 (15 Marks)

(a) Sketch the following graphs:

i. y=|sinz| for —27 <z < 2.
ii. y=+va2-4

iii. y? =22 — 92

(b) Sketch y= CENHCED)

Commence a NEW page.

(c) The diagram shows the graph of f(z).

,,,,,,,,,, -1
i > N
—+1 /l
~1

Marks

Sketch the following curves on separate diagrams, clearly indicating any turning

points and asymptotes.

: 1

i y= m
iy =f(z[)
iii. y=log, (f(x))
iv. y=ell®

JUNE 21, 2012
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2012 MATHEMATICS (EXTENSION 2) HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION 7
Question 15 (15 Marks) Commence a NEW page. Marks
(a) A solid of height 10m stands on horizontal ground. The base of the solid is an 5
ellipse with semi-axes of 20m and 10 m. Horizontal cross-sections taken parallel
to the base and at height h metres above the base are ellipses with semi-axes x
metres and § metres so that the centres of these elliptical cross-sections lie on
a vertical straight line, and the extremitites of their semi-axes line on sloping
straight lines as shown in the diagram. The top of the solid is an ellipse with
semi-axes 10m and 5m.
Show that the volume V m3 of the solid is given by
10
V:E/ (20 — h)2 dh
2 Jo
and hence find the volume correct to the nearest cubic metre.
. . . . 1 x?
(b) The shaded region shown in the diagram below is bounded by y = —, y = 3
x
and x = 1. This region is rotated about the line x = 1.
Y
| 1
I Vy==z
o
g
\
~—y = z?
T S
O |
i. Find an integral which gives the volume of the resulting solid of revolution 4
using the method of cylindrical shells.
ii. Find the volume of the solid of revolution. 2
(c) On the number plane, shade the region 4

(x—a)’+(y—b)> < R’
where R < b < a.

Find the volume when this shape is rotated about the y axis using the method
of slices.

NORTH SYDNEY BOYS’ HIGH SCHOOL
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8 2012 MATHEMATICS (EXTENSION 2) HSC COURSE ASSESSMENT TASK 3 — TRIAL EXAMINATION

Question 16 (15 Marks) Commence a NEW page. Marks
(a) i. Determine the real values of p for which the equation
2 2
x
+ L=
3+p 8+p
defines
(o) an ellipse 1
(8) a hyperbola 2
ii. For the value p = —4 in the above equation, find the 2

e cccentricity
e coordinates of the foci, and
e the equations of the directrices

of the conic.

2 2

(b) P is a point on the ellipse :c_2 + v
a

=i 1 with centre at the origin O.

A line drawn from the origin O, parallel to the tangent to the ellipse at P,
meets the ellipse at Q.
i. Derive the equation of the tangent at P (acos,bsin@). 2

ii. Hence or otherwise, prove that the area of AOPQ is independent of the 3
position of P.

(c) i. Find the equation of the normal at P(asecf,btan@) to the hyperbola 2
2 2
a b2

ii. This normal intersects the x and y axes at ) and R respectively. M (x,y) 3

is the midpoint of QR. Find the equation of the locus of M as P varies on
the hyperbola.

End of paper.

JUNE 21, 2012 NORTH SYDNEY BOYS’ HIGH SCHOOL



z" dx

dx

8

/

/

/ 0z g
/cos ax dz
/sm ax dx
/sec ax dx
/

sec ax tan ax dx

1
/a2+x2 du

1
/ Va? — x? d
71 d
Nz

1
—dz
/ Va2 4+ a?

STANDARD INTEGRALS

1 "t 4 C,

n+1
=Inz+ C,
1
= —e® 4+ C,
a
1.
= —sinax + C,
a
1
= ——cosax + C,
a
1
= —tanazx + C,
a
1
= —secax + C,
a
1
— “tan—'Z +C,
a a

L
=sin™!' =+ C,
a

n#-1; x#0ifn<0

x>0

a>0,—a<zx<a

= n(x+\/x2—a2>+0, x>a>0

= n(m—l—\/m)—l—C

NOTE: Inz =log,z, z > 0
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Answer sheet for Section 1

Mark answers to Section I by fully blackening the correct circle, e.g “q

STUDENT NUMBER: .......... i

Class (please O)

O 12M4A — Mr Weiss (O 12M4B — Mr Ireland (O 12M4C — Mr Fletcher
1- ® © ©
2- ™ © ©
3- ® © ©
4- @ © ©
5— ® © ©
6- ® © ©
T ® © ©
8- ™ © ©
9- ® © ©

10 - ® © ©

JUNE 21, 2012 NORTH SYDNEY BOYS’ HIGH SCHOOL



2002 Ext-2 - Tes%§
NV, dn x_oln
-G~ xt {i=n
ol w" -
f/fzoq {,ﬂ %) 4, dee =~ el
Jr ( {= Q«Q)e =iy Ao
7 sin” {22&”} +c o
SR
i/ j s #

= @h(m !%) + C
b3
b o~
‘ x(u’xf)
Powiial f‘aaf/uns
i s a + bt
w “n‘) 7" it

/ ¥ &(H)Ll) thite €

°e a¢b =0

2 2
X
jﬂdm. f«im’w
— % i+nt

! n(ls-m}) I

2
- - S
= in & 5%(/«»%/‘}:/
(4

= ‘Me&"ﬁm/ ,j &5“’«»:{ b 2

=

3
2
ln

4

B

-‘—,; o - ‘2,35" Ze

1

4

2)

T

3
Au - 2w ¥ & o

e

a(za—n)% ~ ,z,(/,v;)% s
J

“w ol
-2y
j €, Cuay N Ay

-2y . 2,
T € SM’L+2J.,¢W%C«

-2 -2y, —2x
TEC S —AWRT «Aa,fao;ue, .

- . 2
S1 ° f/%&!’%"' ~ 2 Loy e

L (sinx remm) e
Ql— QIO |

. B e A

2. D + A

3. A g C

k. D 9. B

§D n B




P(x) = x" - 3xs+§xlwz‘?~:x -3¢

@
Pr3i)e (i)'~ 3 Gi) + v GO -27(38) 3k
= @l + ¥l — 45 - &le 14

p=y o

3 4 a roet

MG&%‘ —3¢ olso & r-oe"’t
pleyz Gew3i)(x-3) &L)
= GrHa ) (@0 3

= (49 ) (x-4) (x+1)

4, -1

A

roofs a- + 3
’

[/15__1: wae Swrm & P»DM of et >

¢b) 2% 4 Hxt psx+ 1 =©
T B B S ¥
o(llgL LA %7 FZ 5 Qo(ﬁ‘r) -
() 2fuppr ¥ V) )
(#P¥ D™

IS
cH°
ve

= -4
mhfL roo'(ﬂ LV«‘J

(AT Creafs The e
do o, f;"amd( Yl, and fwM
Fomr M)

&(x) =
8'(x) =

o 3 2
2 - §x +H4x +3x +9

4y® _ je ot 4 Bx + 3

Firct, find roets of Ax) =0

@)

Q) = (xWB)z‘ NEP.

QME B
3 3_}_{3?%{3 J— 1[&%@%@’?

Nows

(1—3:) e O

F(’I)-:: x
D*f,ﬂ)r Mra-o:@/

put Q) ¥
/

a~d @ (3) =0 ‘. %=3 ethe
0549“% mot‘

(oigfetZn”)

= D

&’[17 z O

&/(3) =0 ,

= Cx’f”z (zz+ij

5 get o4 3 A+ =0

@gng@!l%g&:&#'i’ = ©
pr-2pt R
= ©

Xg ,2@'%’ .{;33’%’“/’
E’-—_/”_________,_,_,————'—“”"'—'_

.,»2(%(1»(?%) +3 =0

= O

ol

0&2__’“(@24_@,?'; @g'ﬂﬁ—@’)zv 2 (ol X T (g;f)
G SETRED

dgﬁsgw’g . 2(-2) +3(r) +3 =7
dg&fy?%g’g = ~ /3



2] e

Px) = 2" - ax*+ b =0

call ot ot }
Now f’[,{): g% - 2a‘x,

Sas a ma,(){i'/éa 5T

we haus P(ol)D f/[,()=0
OL5-"' ao{z +L =0 A (’)
S“of'f 2a ok =0 e ()
Bow'@_)/ ,,((So(gf )_a):o
£3: 2
ol = © o s A
R z _ 2a L2 ol = a—q—%)} /
gt Ho)to = w322 :
Sub’ ’.A*v('): 2 /
o 3 .
(&) S q- (3%) = —b
g

W:%.@)?(%ﬁ) = b

NS LG )
o 2. . -
SRONGE

Culoe bett srdas :

| . s
NG
—rogal o b
2/25
s_ 3728 I /

Y /08 a =

‘ L) ek
(pote :  Failuse jo elimina®e ol=0 2 o possibi/y  coste 4 1

Cd) Im[’%)zl
- =
> ke (2)
/J/
® 2% - 2(2r2)=5
Lot 2= xtiy Z = =ty

l

2 2 = -
Z = + 7+2 = 2=
Z7 x Y y)

A x7’+a2' - Hr = 5

2t dy +4 oty = T

@) ryte 3T e
Weﬁs&&irv&/ e re C?j@), v

INeT® : Ly marks requies = &@Wwaﬂzj
fowes oc o Skefeh olepitiy &

/

v/



AQISI @

Jz- Jz2 ¢
= [ S N
i(fz. "(z_—ﬁ,

= a eis (,%;) v

210: 210‘ CIGS("%N) /
(% Do Mo ivee)
= 2 eis (E) = o2y -t
= - Jjo2Y¥ T /
fIm(2)
@ p(6:=) |
= L(Z)
B
—
ek A [0Bl = 2 [of]
. — ,
tockioias volator G T acl o Shefebey
2
— . .
' pb W % —tL Cé+a1) \X/
= "‘QL + %__‘};
# ‘ 2
gt BT ="

P& 4L XY
ML = A B
%fﬁuﬁ-&: mn L PY

Given -

Seie <XzZ® = 90
XB s The &{AAM& a@ [N o‘}()&/ e e /ﬂ‘
Thet passes threugh 2. [convese do oma@ o]

amnd MX:MQ/
/

Seemsfeirds o Gpo

Thaee M2 =mx= MB&
Let L YPR = o
Lgzxae . (amgles Standiog S S5
orc ‘&Y)
. LARQZE = Go-oL @ Som g AXZR  gven
g /

< 28 ;90:)

CMAE (6M,Qa,,,3}i@4 2

o =
Now~ < Mz SRS N m%&)
= 90— L
Thus  gpzn = < MmZQ (vesticaltly opposite 49
= go-— X .
Theo LPNE= yg0— o — (90-%) [ng;;ff]
=9 N4
Thetis, mnN L PY. #
ne MMS awardled wi?’:&ou} a viable stategy Fow ovda
Soéu-f;o' wiy $mfp&ﬂ-‘£ . @g /@w\gw o St O /bj

1'7‘56[7{* J@Q WW°,E°



o R e gt s

94) (8) @
IAYAVAYA

v o T o

as foo = | p“"w\an,@ .

| M g”’m Mw o] e

é“ B i wwfff? . gg@ S

e

EN

im >

R 5o

] rﬂglé"v’{“dﬂ 0*(‘.\3&.‘.9..

O - rhion of the trv€
. V .

@

(B) 0] la Vi » : vLo S8

y= {0 /\_2\ /
/_z - !

e

et




w=X = £

wm

o e

L e 20-%

Ara o slie A* T ¥
T (u-)
A

Volums. Qf selid 10
§4s0 L=o

NG
O ,
-T «4130/7@
L (o4 ]
g (o)

7000 7 m>

e

&

LS m° (rand mj

% (mw%}l oLh,

1=l

N .

f

[l

2

: L
°) 10

amdd, 3:.

Sof &

x? =8

N A

Vgl

v =

(1]

Rutatiom ab owt 1» PYIR

ﬁm& = T (‘Qm" T'j)
Now R = at - (44>
& (5o

Vspw = T (Rev)(R-7) 5
T (2a)a (R (g ) sy
&R
re |
b-R ,z.,

WTe . i F R Stmi- wrch
A Wuz,m b,

¥z a-

R (19" oy

27 R L3



&sg) (2) A 7@2 =4 y= 5 5mG = ~beo®
3P Sk a s
@47 3m @« ah sen@ > —b 1 an® ¢ Sh as®
ﬁ/) ~) lpse ¢ 3P0 An cn@ F 2y sin ® = ab [sine -Mm*‘;?
anst  §1p 0 xcn®@ f 7@“@ =/
o e /'3,7‘“«3 o &
(#) T~
K7 ,%)/ngvm % 3rp 50
At  BTP <O \ T
o Mot possible l\’\_j@i,><\ T~
-or «%% 2P <O anct §1pP K
o B p =2 e,?wv{ g 4= -banox ®
G SO
(%) if P-4 Xoryg ®
Y “
- 4 v L e M
oy = at B arsinate
ZZL 2 Sw@xt t O w7 a® 50
My B a? ¢’~/ wor & S @
/s 4/‘1*’/ AT Fa 5ne
e > L ﬁma,;,a,qmwm z - a SO
2 = b en?
: + /2 N
f'bc,@ {’/O} = f.‘s‘)
pit fom P I 0Q
bt el v s 7’» f% o0Q b oan® & +a,$'5m&c} =0
P (a, an O, b S;n@)
oenT tees {Q jf f/) h o Dit s ab w6 tak SO
Vi ent® + atsiae
ab

2. 2 ;/ -
_ab
Jocatot atom™e

(B Oz £
J oS i e

4/&
e r2y2y <O At OQ
at bt @

Ay = -2k b A fre * 3 . O0&. b dist -chm?

— e —

“ a2 >4 ab  x Jameda

. L(a‘cuj'/a/% Gsim’e

% wwlﬂf of P.
A




c eam. of nowwmeak at P
) ,

(J) e .Si;vx ® %—5;{ = {&1%%2) S O

9{) at @ y=o
g v = <Q’l%ﬂ©g,> fam &

ey Sive (©®

- (@&fb:&} LA
G
at R X =0
3 = @l‘{*%& ?‘%@

at m&f@m of RQ

¥ < 1 (cffgf)m@ Y © (&-tfbl) baw ©

24 2b
(ocws Of M

(Za.f%)a - {&b‘/)* = (&%b”')z’<wa‘a - f“an“ca)
S udxt - 4yt yT s (af’f»b‘)”‘

which »n  anoller Aafu*éw(,&

Derwabion of c)i/ 2w - 2y dy =0
Am

av 6>
dq = xb&
df)l/ iff,a’z
= 5/_96’,0&&@
ol tan®
e7m, o(" Y 3— b fan ® =-a‘h'm<3( x - a Au:@)
" Ae®

4

(a‘f52) MO fan®

an. Tom @ +§>7 AL
(azﬂ;z) tan @

(?uce) ax s~ @ fbc?;
OR m&i& + ,ﬁ_ = Clzii-é?"
(T” Au:@'ﬁm@) e fam @

1}



	12-2012-ext2-trial
	0023_001

